
	
   1	
  

DS4 – 2nde -  8/12/15 - AVEC CALCULATRICE Sujet A 

Géométrie analytique – Fonctions affines 

Nom : 

 

Note : 

 
Observations : 

 

	
  

Exercice	
  1	
  (5	
  points)	
  

Dans	
  un	
  repère	
  orthonormé	
  (O,	
  I,	
  J),	
  on	
  donne	
  les	
  points	
  A(	
  4	
  ;	
  0	
  )	
  	
  B(	
  4	
  ;	
  4	
  )	
  	
  C(	
  0	
  ;	
  4)	
  et	
  OABC	
  est	
  un	
  

carré	
  de	
  centre	
  D.	
  

E	
  et	
  F	
  sont	
  les	
  milieux	
  respectifs	
  de	
  [OA]	
  	
  et	
  	
  [CD].	
  	
  

1) Déterminer	
   par	
   le	
   calcul	
   les	
   coordonnées	
   des	
  

points	
  E	
  et	
  F	
  

2) Démontrer	
  que	
   le	
   triangle	
  EFB	
  est	
  rectangle	
  et	
  

isocèle.	
  

3) Déterminer	
   le	
   rayon	
   du	
   cercle	
   circonscrit	
  Γ  au	
  

triangle	
  EFB.	
  

4) Le	
  point	
  A	
  appartient-­‐il	
  au	
  cercle	
  Γ  ?	
  Justifier.	
  

5) Déterminer	
  les	
  coordonnées	
  du	
  point	
  E	
  dans	
  le	
  repère	
  (D,C,O)	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  



	
   2	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  2	
  	
  (2	
  points)	
  

Dans	
  un	
  repère	
  orthonormé	
  (O,	
  I,	
  J)	
  d’unité	
  le	
  cm	
  ,	
  on	
  donne	
  le	
  point	
  A(	
  1	
  ;	
  2	
  )	
  	
  	
  

Déterminer,	
  par	
  le	
  calcul,	
  les	
  coordonnées	
  des	
  points	
  M,	
  situés	
  sur	
  l’axe	
  des	
  ordonnées	
  et	
  à	
  4	
  cm	
  de	
  A	
  

	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  3	
  	
  (3	
  points)	
  

Soit	
  f	
  la	
  fonction	
  affine	
  par	
  morceaux	
  telle	
  que	
  :	
      
𝑓 𝑥 = 𝑥 + 2                𝑠𝑖 − 4 ≤ 𝑥 < 0
𝑓 𝑥 = 3                                  𝑠𝑖      0 ≤ 𝑥 < 2
𝑓 𝑥 = −2𝑥 + 1        𝑠𝑖      2 ≤ 𝑥 ≤ 4

	
  

1) Représenter	
  la	
  fonction	
  f	
  sur	
  

l’intervalle	
   −4  ; 4 	
  sur	
  le	
  repère	
  ci-­‐contre.	
  

	
  

2) Compléter	
  l’algorithme	
  permettant	
  de	
  

calculer	
  les	
  images	
  de	
  la	
  fonction	
  f	
  .	
  

Saisir	
  X	
  
Si	
  𝑋 ≥ −4    𝑒𝑡    𝑋 < 0	
  

	
   Alors	
  Affecter	
  à	
  F	
  la	
  valeur	
  …………..	
  
Sinon	
  	
  
Si	
  ……… .    𝑒𝑡  ……… ..	
  
Alors	
  Affecter	
  à	
  F	
  la	
  valeur	
  	
  −2𝑋 + 1	
  
Sinon	
  Affecter	
  à	
  F	
  la	
  valeur	
  ………..	
  
FinSi	
  
FinSi	
  
Afficher	
  F	
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3) A	
  l’aide	
  de	
  l’algorithme	
  précédent,	
  compléter	
  le	
  tableau	
  suivant.	
  

x	
   -­‐	
  4	
   -­‐	
  3	
   -­‐	
  2	
   -­‐	
  1	
   0	
   1	
   2	
   3	
   4	
  

f(x)	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
  

Exercice	
  4	
  	
  (3	
  points)	
  

Soit	
  k	
  la	
  fonction	
  définie	
  sur	
  R	
  par	
  𝑓 𝑥 = !
!
𝑥 + 14  .	
  

Quels	
  sont	
  les	
  points	
  d’intersection	
  de	
  Cf	
  avec	
  l’axe	
  des	
  abscisses,	
  des	
  ordonnées	
  ?	
  

Donner	
  en	
  justifiant	
  le	
  tableau	
  de	
  variation	
  et	
  le	
  tableau	
  de	
  signes	
  de	
  la	
  fonction	
  f.	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  5	
  	
  (2	
  points)	
  

Un	
  article	
  coûte	
  x	
  euros	
  en	
  2010.	
  Il	
  subit	
  successivement	
  une	
  augmentation	
  de	
  10%	
  en	
  2012,	
  une	
  
baisse	
  de	
  5%	
  en	
  2014,	
  puis	
  une	
  augmentation	
  de	
  20%	
  en	
  2016.	
  

On	
  note	
  f	
  la	
  fonction	
  qui	
  au	
  nombre	
  x	
  associe	
  le	
  prix	
  f(x)	
  en	
  euros	
  en	
  2016,	
  après	
  les	
  3	
  variations	
  en	
  
pourcentage.	
  

1) Déterminer	
  l’expression	
  algébrique	
  de	
  f(x).	
  En	
  déduire	
  la	
  nature	
  de	
  la	
  fonction	
  f.	
  Justifier.	
  
2) En	
  déduire	
  l’évolution	
  en	
  pourcentage	
  de	
  cet	
  article	
  entre	
  2010	
  et	
  2016.	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
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…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  6	
  	
  (5	
  points)	
  

Deux	
  chauffeurs	
  de	
  taxi	
  pratiquent	
  des	
  tarifs	
  différents	
  :	
  

Tarif	
  A	
  :	
  5	
  €	
  de	
  prise	
  en	
  charge	
  et	
  0,40€	
  par	
  kilomètre	
  parcouru.	
  

Tarif	
  B	
  :	
  pas	
  de	
  frais	
  de	
  prise	
  en	
  charge	
  mais	
  0,60	
  €	
  par	
  kilomètre	
  parcouru.	
  

1. Exprimer	
  A(x)	
  le	
  prix	
  payé	
  au	
  taxi	
  A	
  et	
  B(x)	
  le	
  prix	
  payé	
  au	
  taxi	
  B	
  en	
  fonction	
  du	
  nombre	
  x	
  de	
  
kilomètres	
  parcourus.	
  

2. En	
  utilisant	
  la	
  calculatrice,	
  déterminer	
  pour	
  quelles	
  longueurs	
  de	
  trajet	
  le	
  taxi	
  A	
  est	
  plus	
  
avantageux.	
  

3. Un	
  client	
  a	
  12	
  €	
  en	
  poche.	
  En	
  utilisant	
  la	
  calculatrice,	
  déterminer	
  quel	
  taxi	
  	
  doit-­‐il	
  prendre	
  pour	
  
aller	
  le	
  plus	
  loin	
  possible.	
  Quelle	
  distance	
  pourra-­‐t-­‐il	
  alors	
  parcourir	
  ?	
  

4. Un	
  troisième	
  taxi	
  fait	
  payer	
  11,50	
  €	
  pour	
  une	
  course	
  de	
  17	
  km	
  et	
  20,50	
  €	
  pour	
  35	
  km.	
  Le	
  prix	
  de	
  la	
  
course	
  est	
  une	
  fonction	
  affine	
  du	
  nombre	
  de	
  kilomètres	
  parcourus.	
  Fait-­‐il	
  payer	
  une	
  prise	
  en	
  
charge	
  ?	
  Si	
  oui,	
  quel	
  en	
  est	
  le	
  montant	
  ?	
  Quel	
  est	
  le	
  prix	
  du	
  kilomètre	
  parcouru	
  ?	
  

	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
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DS4 – 2nde -  8/12/15 - AVEC CALCULATRICE Sujet B 

Géométrie analytique – Fonctions affines 

Nom : 

 

Note : 

 
Observations : 

 

	
  

Exercice	
  1	
  (5	
  points)	
  

Dans	
  un	
  repère	
  orthonormé	
  (O,	
  I,	
  J),	
  on	
  donne	
  les	
  points	
  A(	
  4	
  ;	
  0	
  )	
  	
  B(	
  4	
  ;	
  4	
  )	
  	
  C(	
  0	
  ;	
  4)	
  et	
  OABC	
  est	
  un	
  

carré	
  de	
  centre	
  D.	
  

E	
  et	
  F	
  sont	
  les	
  milieux	
  respectifs	
  de	
  [OA]	
  	
  et	
  	
  [CD].	
  	
  

1) Déterminer	
   par	
   le	
   calcul	
   les	
   coordonnées	
   des	
  

points	
  E	
  et	
  F	
  

2) Démontrer	
  que	
   le	
   triangle	
  EFB	
  est	
  rectangle	
  et	
  

isocèle.	
  

3) Déterminer	
   le	
   rayon	
   du	
   cercle	
   circonscrit	
  Γ  au	
  

triangle	
  EFB.	
  

4) Le	
  point	
  A	
  appartient-­‐il	
  au	
  cercle	
  Γ  ?	
  Justifier.	
  

5) Déterminer	
  les	
  coordonnées	
  du	
  point	
  E	
  dans	
  le	
  repère	
  (D,C,O).	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
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…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  2	
  	
  (2	
  points)	
  

Dans	
  un	
  repère	
  orthonormé	
  (O,	
  I,	
  J)	
  d’unité	
  le	
  cm	
  ,	
  on	
  donne	
  le	
  point	
  A(	
  1	
  ;	
  2	
  )	
  	
  	
  

Déterminer,	
  par	
  le	
  calcul,	
  les	
  coordonnées	
  des	
  points	
  M,	
  situés	
  sur	
  l’axe	
  des	
  ordonnées	
  et	
  à	
  3	
  cm	
  de	
  A	
  

	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  3	
  	
  (3	
  points)	
  

Soit	
  f	
  la	
  fonction	
  affine	
  par	
  morceaux	
  telle	
  que	
  :	
      
𝑓 𝑥 = −𝑥 − 2                𝑠𝑖 − 4 ≤ 𝑥 < 0
𝑓 𝑥 = −3                                  𝑠𝑖      0 ≤ 𝑥 < 2
𝑓 𝑥 = !

!
𝑥                                  𝑠𝑖      2 ≤ 𝑥 ≤ 4

	
  

1) Représenter	
  la	
  fonction	
  f	
  sur	
  

l’intervalle	
   −4  ; 4 	
  sur	
  le	
  repère	
  ci-­‐contre.	
  

	
  

2) Compléter	
  l’algorithme	
  permettant	
  de	
  

calculer	
  les	
  images	
  de	
  la	
  fonction	
  f	
  .	
  

Saisir	
  X	
  
Si	
  𝑋 ≥ −4    𝑒𝑡    𝑋 < 0	
  

	
   Alors	
  Affecter	
  à	
  F	
  la	
  valeur	
  …………..	
  
Sinon	
  	
  
Si	
  ……… .    𝑒𝑡  ……… ..	
  
Alors	
  Affecter	
  à	
  F	
  la	
  valeur	
  	
  !

!
𝑋	
  

Sinon	
  Affecter	
  à	
  F	
  la	
  valeur	
  ………..	
  
FinSi	
  
FinSi	
  
Afficher	
  F	
  



	
   7	
  

3) A	
  l’aide	
  de	
  l’algorithme	
  précédent,	
  compléter	
  le	
  tableau	
  suivant.	
  

x	
   -­‐	
  4	
   -­‐	
  3	
   -­‐	
  2	
   -­‐	
  1	
   0	
   1	
   2	
   3	
   4	
  

f(x)	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
  

Exercice	
  4	
  	
  (3	
  points)	
  

Soit	
  k	
  la	
  fonction	
  définie	
  sur	
  R	
  par	
  𝑓 𝑥 = !!
!
𝑥 + 4  .	
  

Quels	
  sont	
  les	
  points	
  d’intersection	
  de	
  Cf	
  avec	
  l’axe	
  des	
  abscisses,	
  des	
  ordonnées	
  ?	
  

Donner	
  en	
  justifiant	
  le	
  tableau	
  de	
  variation	
  et	
  le	
  tableau	
  de	
  signes	
  de	
  la	
  fonction	
  f.	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

	
  

Exercice	
  5	
  	
  (2	
  points)	
  

Un	
  article	
  coûte	
  x	
  euros	
  en	
  2010.	
  Il	
  subit	
  successivement	
  une	
  augmentation	
  de	
  5%	
  en	
  2012,	
  une	
  baisse	
  
de	
  10%	
  en	
  2014,	
  puis	
  une	
  augmentation	
  de	
  20%	
  en	
  2016.	
  

On	
  note	
  f	
  la	
  fonction	
  qui	
  au	
  nombre	
  x	
  associe	
  le	
  prix	
  f(x)	
  en	
  euros	
  en	
  2016,	
  après	
  les	
  3	
  variations	
  en	
  
pourcentage.	
  

1) Déterminer	
  l’expression	
  algébrique	
  de	
  f(x).	
  En	
  déduire	
  la	
  nature	
  de	
  la	
  fonction	
  f.	
  Justifier.	
  
2) En	
  déduire	
  l’évolution	
  en	
  pourcentage	
  de	
  cet	
  article	
  entre	
  2010	
  et	
  2016.	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
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…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

Exercice	
  6	
  	
  (5	
  points)	
  

Deux	
  chauffeurs	
  de	
  taxi	
  pratiquent	
  des	
  tarifs	
  différents	
  :	
  

Tarif	
  A	
  :	
  5	
  €	
  de	
  prise	
  en	
  charge	
  et	
  0,40€	
  par	
  kilomètre	
  parcouru.	
  

Tarif	
  B	
  :	
  pas	
  de	
  frais	
  de	
  prise	
  en	
  charge	
  mais	
  0,60	
  €	
  par	
  kilomètre	
  parcouru.	
  

1. Exprimer	
  A(x)	
  le	
  prix	
  payé	
  au	
  taxi	
  A	
  et	
  B(x)	
  le	
  prix	
  payé	
  au	
  taxi	
  B	
  en	
  fonction	
  du	
  nombre	
  x	
  de	
  
kilomètres	
  parcourus.	
  

2. En	
  utilisant	
  la	
  calculatrice,	
  déterminer	
  pour	
  quelles	
  longueurs	
  de	
  trajet	
  le	
  taxi	
  A	
  est	
  plus	
  
avantageux.	
  

3. Un	
  client	
  a	
  12	
  €	
  en	
  poche.	
  En	
  utilisant	
  la	
  calculatrice,	
  déterminer	
  quel	
  taxi	
  	
  doit-­‐il	
  prendre	
  pour	
  
aller	
  le	
  plus	
  loin	
  possible.	
  Quelle	
  distance	
  pourra-­‐t-­‐il	
  alors	
  parcourir	
  ?	
  

4. Un	
  troisième	
  taxi	
  fait	
  payer	
  11,50	
  €	
  pour	
  une	
  course	
  de	
  17	
  km	
  et	
  20,50	
  €	
  pour	
  35	
  km.	
  Le	
  prix	
  de	
  la	
  
course	
  est	
  une	
  fonction	
  affine	
  du	
  nombre	
  de	
  kilomètres	
  parcourus.	
  Fait-­‐il	
  payer	
  une	
  prise	
  en	
  
charge	
  ?	
  Si	
  oui,	
  quel	
  en	
  est	
  le	
  montant	
  ?	
  Quel	
  est	
  le	
  prix	
  du	
  kilomètre	
  parcouru	
  ?	
  

	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
  

…………………………………………………………………………………………………………………………………………………………	
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